MEISEIA —T U hSA 7Lk —&E HHF

FnN— K & g |#=| &A1 L8R ¥EH2 L% EH3 ECE%
1641 A = BHF | 2 100 13.93 200 29.70
1643 R ] BHF | 2 100 14.52 100H 20.99
1640 Kix =i BHF | 2 100 14.92 200 30.88 EfE Bk 4m08
4688 al i BH | 1 100 15.02 200 31.70
4689 tH EE BH |1 100 15.12 g Bk 3.63
8272 | FHER EN BH | 2 100 13.25 ENE Bk 4m35
8273 TRZE HHE| BH# | 2 100 13.76 g Bk 4m46
1800 BIS B2 HHF | 2 800 2.58.97

4688 Al Hie BH |1 200 31.70

1644 g A | BHF | 2 1500 5.22.36

1722 MK BE BH | 2 1500 6.18.49
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F—Ls 15 23 3% 4% 50 &%
No.sh—F | 4088 1041 1640 1643
A 56.43
EFLZ Bl R | AKX = Kig X | Elf H#F
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MEISEIA—T U hSA7ILERER—&E

RluAg

FN— K & g EA=R L8R ¥EH2 L% EH3 ECE%
1| 8241 A B pNi]s] 3000 9'34732
2 | 2779 Lz XE | KA 3000 1016 1500 456
3| 2934 ATz EZ | K@ 3000 1114 1500 5.24
4| 2777 Kk & | Ko 1500 5.01
5| 2780 | &AM &KX | KB 1500 4.59
6 | 1627 INR 2 pNIin 100 14750 E= Bk 1m25
7| 1624 A % | KA 100 13”71
8 | 1699 R H B | KA 100 14713 ENE Bk 4m75
9 | 4680 ‘AH Y% | KB 100 15745 a2k 3m72
10 | 4681 Zih XE | KA 100 13780 E gk 4m37
11| 4682 b ¥\ | KA 100 15723 a2k 3m49
12| 4683 =5 e pN11]n] 100 15786 EEpk 1m20
13 | 4684 b7 BEhE| Ko 100 16739
14| 4685 LIg Bx | KB 100 16794
15 | 8246 N #hik | KA 100 11785 200 24.16
16 | 8249 hH #%& | KO 100 12744
17| 2932 FH 20 pNii]ui 100 13799 110H 21.29
18| 2776 BA 2 | KB\ 100 13772
19 | 8380 Al #MiE | Ko 100 13767 110H 19.63
20 | 8248 ;A &KX | KA 100 14703
21| 8257 Frh @& | Kln E= Bk 1m20
22 | 5271 Z 5 FE | KA 800 2.51.38
23| 4679 &H X | KA 800 2.57.94
24 | 1625 M HYH | Ko 100H 20.33
25 | 8247 35 &z | KA 110H 18.11
26 | 2782 B 1L MK | KA ENE Bk 4m58
27| 2775 BNl fEXER | KB E =Bk 4m28
28 | 1700 fEM BEF | Ko ENE Bk 4m49
29 | 4687 M BR | KO 200 31.93
30 A #Eth | KA 1500 4.51.31
31| 8242 = A% | KA 1500 4.47.69
32| 8389 fIER  BFELE | KO 1500 42467
33| 8250 B# RA | KA 1500 5.04.06
34| 1630 &R FEAF | RbO 1500 5.53.33
35| 4678 PN B+ | Ko 1500 5.58.01
36 | 2784 Rk ME | KXo 1500 5.44.87
37| 8253 INKR &l | Ko E= Bk 1.50
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1% 23 3% 43 ER 2

Noi—F | 4681 1627 1625 1624

53.62
EFL | HH KR | MR R | #R HYH| BA WK
Noh—F | 8247 8246 8249 8253

48.23
EBFA | &8 &3 | N | B 8BS | M B
Noh—F | 2777 2779 2780

56.87
EFE | KB BN | W KE [EAR 8K | 5H
Noi—F | 8251 8389 8250 8252
EFE | #A =R | WM FELE B RF | EH AF 53.59
Noi—F | 4683 4682 4680 4678

59.27
EFA | =6 B | Ht By | AE IR | KK Rt




MEISEIA —T U hSA 7Lk —&E Eafii==

FN— K & g |#=| &A1 L8R ¥EH2 L% EH3 ECE%
1636 A& BEXF | Bl | 2 100 14701 100H 18.25
4618 A & Ml |1 100 14.48 200 29.54
4621 iz E33 Bl |1 100 14774 200 30.01
4615 S<H BR Bl |1 100 14791 ENE Bk 3m95
4617 PN Wk mw 1 100 15708 200 30.64
4619 =3 A Bl |1 100 15712 ENE Bk 3m85
4620 #® HEE A 1 100 14790 g Bk 3m19
8263 E Kith Bl | 2 100 12707 200 2417
2605 =} YN Bl |1 100 12716 200 24.40 E= Bk 1m70
10| 4616 XA W 800 2.40.60 200 30.44
11| 2607 &E A 100 12772 a2k 474
12| 8267 Puk s Ll 100 13.26 E R Bk 454 200 27.19
13| 8270 & A 100 13.79 ErE Rk 3.90
14| 8268 bunl L 100 14.08 E Bk 4.21 200 27.19
15 | 8269 i3 muw 800 2.17.91 400 58.18
16 | 8265 Fitix L 1500 2.12.63
17 | 2604 fE4R m 1500 5.50.63 3000 11.07
18 | 8270 i mL 1500 5.50.39
19 | 8266 ES A 100 12.40
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F—Ls 15 23 3% 4% 50 &%
No.h—FK | 1636 4618 4615 4616

A 56.14
EFLZ Bt EXF| A2 K& | £H TxX | X K1
No.h—FK | 4620 4621 4619 4617

B 57.32
EFLZ M OWE|FE OEK| 5 A | XK #AD
No.h—F | 8269 8266 8263 2605

C 47.06
EFLZ 8 s | K Ax | 2% X | FIE EX

5 No.si—FK | 8270 8267 8265 2607
EFA WL K— | dH HE | #MFE BB €£F HiD 51.34
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MEISEIA —T U hSA 7 ILiEEk—& tREH

FN— K & g EA=R L8R ¥EH2 L% EH3 ECE%
1] 2770 Eopll B | tRE 3000 9.56.73 800 2.28.37 1500 4.50.40
2 | 2765 HiE BEf | tXk& 3000 10.41.37 800 2.29.64 1500 5.05.63
3 208 Fm EBXE| tké 3000 11.35.54 800 2.37.87 1500 5.22.88
4| 2213 I FaoY | ERE 100 14.20
5| 1605 =g BE | tRE 100 14.04 100H 17.74 EfE Bk 4.64
6 | 1607 ERE ICLWVE | ERE 100 13.98 stz 8.73
7| 1606 BE ¥i:d txE 100 14.30 g Bk 4.40
8 | 4671 aH  EHERF | tRE 100 15.58 EE Bk 1.20
9 | 4673 JKH BxX | tRE 100 14.96 100H 19.36
10| 2771 = BD | tRE 100 12.81 200 25.98
11 ] 8220 1Tp:N BEA | ERE 100 12.78 400 56.83
12| 2773 EH D | ERE 100 13.98
13| 8221 & —& | tRE 100 13.16 200 26.51
14| 2769 Rt 17, txrE 100 13.57 EE Bk 1.30
15| 2764 =L 1= tRE 100 14.63
16 | 2772 TN BiE | tRE 100 15.54 ENE Rk 3.86
17| 8218 | EBEXK = txrE 100 14.44 E MR Bk 4.14
18 | 2766 #a hy | ERE 100 13.52
19| 2767 e R tRE 800 2.28.58 1500 5.07.16
20 | 2774 EH  EhL | ERE 100 13.38 ENE Rk 4.47
21| 8223 T& X&E | tRE 800 2.16.42 400 58.56
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F—Ls 15 23 3% 4% 50 &%
No.h—K | 1606 1607 1605 4673

A 54.48
EFLZ mE EE I2WVE| B B | kA BE
No.h—K | 8221 8220 2774 2771

B 49.9
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